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1. Choos al the xprssions thatare cquil
€06 % 10° 1 point

0 sxmn

W 6 x 1000

O 6x 10000
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O sxroxioxoxmo
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5. Choose all the comparisons
that are rue. 1 point

@ 415405
O 1o54>145
O sia<son
@ sioe<sa
@ soe<sa

2. Anatonal park s eighty thousand,
ihe hundred twenty thrve nd
lghty-sx hundredins acres ofand.
Whichshows this nstandard form?

80923086 1 point

w9228

wonse

8092386

006

3. Foritems 3a-34,choose Yes or No o
el fthe digtnthe hundreds place
s the value o the digtn the
thotsands place. 1 point

3aEsE  OYes ®No
B6s5  OYes ®No
k5568 @Y ONo
3565  Oves @ No

. M. artin s 57000 bersvins
account Aloz ha J ¢ much aney
i sccountas s Martn. How
Tuch maney doss Nonzohavein
his account? 1

6. Luke shaded 20 squares on his
hundredihs grd.Bekk shaded 30
Squares on her hundredihs grid

1 point

Parta
Wiite o decimals greater than Luke's
decimaland less than Bekdk's decimal.

Sample answers; 0.24, 0.26 |

Part

Wiite o decimals equivalent to Luke's
decimal. 1 point

Sample answers: 0.2; 0.200

7. Determine the pattern, then wrte the
decimals to complete the decimal rid

$700

=iz 2 points
e
Topic1 | Assessment 51

™M gmail

s

P

@ view.etexthome2.pearsoncmg.com/ebook/launcheText do?values=scenario::16:bookPageNumber

& My Drive - Google ©

The weight of Daris phone s

3405 ounces.What s 403 it
inexpanded form? 1 point

R

@ 3x1+axFes X

X10+4%5+5 X 755

® 3x 10445 X7

.y s, o oot

© 3x10+axesxih

© 3x1+4x7k+5x7s

. Eline has a plece of wire that s

2.1 meters long.Dikembe has  plece:
ofwire that s 2.061 meters ong.
Whose picceof whre s longer? How
canyoutel? 1 point

Elaine’s wire is longer.
‘Sample explanation: Both

numbers have a 2 in the
ones place, but one fenth s
greater than zero tenths.

i basketl toumamens,Dimi
averaged 12375 rebounds ergame
Whatis 12375 itn n expanded
o Fow st writen wih number
names? 2 poins

. e
104243 %3547 x5
+5x7

7000
twelve and three hundred
seventy-five thousandths
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1. The numbers below follow a pattern
0006 006 08 6

Parth

What are the next two numbers in the
pattern? 1 point

60; 600

e 7
Pants

Whatis the relationship between the
termin the pattern? 1 point

Sample answer: Each ferm is
10 fimes as great as the term
o ts left.

12. Kendra and her horse completed the
barre acing course i 15,839 seconds.

Whatis this number rounded to

the nearest tenth? Explain how

You decided. 2 points
15.8; Sample explanation:
Since the digit in the
hundredths place
5, you keep the digit in the
tenths place. Then you drop
the digits in the hundredths
and thousandths places.
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1 1 All correct choices selected.
2 1 Correct choice selected.

3 1 All correct choices selected.
4 1 Answer is correct.
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